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Day 4 | Even number

Sue thinks of an even number. Complete the table below

Statement True Possibly True | False
The number is positive

The number is a multiple of 2
The number is a square number
The number is a factor of §
The number is odd

"The number is a prime number By Nick Acton
The number is divisible by2 Has your school fallen into a frustrating
One of the factors of the number is odd loop? Constantly updating your

technology? At...

read more

Day 5 | Money matters

FREE resources
Adam has three coins in his & lesson plans
pocket, and they are all
different from each other.
Ben has three coins in his
pocket and they are all the
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Day 5 | Money matters

Adam has three coins in his % ;ﬁzgs?::lgﬁzs
pocket, and they are all @5@
different from each other. i (
Ben has three coins in his
pocket and they are all the
same as each other. .

CLICK HERE

NEWS

‘What Bobby Seagull has
learnt about ...
livestreamed lessons

RESOURCES

Adam has half as much money as Ben. E]  reachsequences,
multiples and powers
with a counting-out game

What are the coins they each have? 84 mathslesson plan
RESOURCE.S
What happens if Adam has twice 2 B g e e

problem - KS4 maths
lesson plan

as much money as Ben?

Solution booklet can be found here
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E An Historical Overview of
the American West -
Supporting Resource for
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Day 9 | The Stupid Gardener

A gardener planted a row of 100 strawberry plants in his garden,
setting them exactly | m apart. Each plant produced just
one strawberry.

‘When picking time came, the stupid gardener placed a basket
| m from the end of the row, and then proceeded to pick and
carry each strawberry to the basket one by one.

Starting and ending at the basket, how far had the gardener walked
when he finished picking all 100 strawberries?

Day 10 | 1996 puzzle

www pearsonpublishing.co.uk/mathspuzzles/htmi/number020Thtml - that order o make the <
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Can you describe an efficient strategy for solving problems like this? -

Day 13 | iPhones and iPads

The table below shows the number of families who own iPads and iPhones.
In the table families own either 1, 2 or 3 iPhones or 1, 2 or 3 iPads

1 iPhone 2 iPhones | 3 iPhones
1 iPad 3 1 2
2 iPads 5 4 5
3 iPads 1 2 3

(a) How many families own at least 2 iPads?
(b) How many families own less than 3 iPhones?
(c¢) How many families own 2 iPads and more than 1 phone?

Day 14 | Insert 1-15

The 7puzzle Company 77 L 4
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Day 15 | Save the date

Explain why the 1st *= - .J
of Marchis always ~_~ »~ ' 7
onthesamedayof + 2 5 |
the week as the 1st - ; s

of November L

Make a deduction about the day of the
week that 31st May falls on compared
to the 1st August.

Solution booklet can be found here
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Day 19 | Five card trick
I am thinking of one of these five cards:
You have to try to find out which one I am thinking of.
Here are some clues:
i) The value of my card is a prime number.
ii) The values of my two neighbours add up to a multiple of 3.
iii) My card is next to a card which is next to the 2 of hearts.
Day 20 | Tricky Twenty Triangle
https://www.mathsisfun.com/puzzles/five-card-trick html o
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Day 25 | Pipes and Pathways

These three houses are putting in gas, to be piped from the
containers shown. House A must be connected with container F,
house B with D, and house C with E.

9?0
oflin

o

fain

aftin

A clause in the title deed forbids laying one pipe across another; and
owners of land around this plot refuse to allow the pipes onto their
land. How will the gas company lay the pipes?

www pearsonpublishing.co.uk/mathspuzzles/html/spatial0201 html
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" Can you put the numbers 1
108 in each of the squares
S0 that each side adds up to
the middle number?
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Find the answer on the nextpage <3
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& MATHS PUZZLES
¥ FOR KS3/KS4

Puzzling taxi fares

Two salesmen (A and B) hired a taxi to take them from their office
to call on their customers.

Salesman A's customer lived 10 km away from their office,
and Salesman B's customer lived 20 km away. The road to B's
customer went directly past A's customer.

The trip cost £20 in total.

What part of the bill was it fair for each salesman to pay?
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Two salesmen (A and B) hired a taxi to take them from their office
to call on their customers.

Salesman A’s customer lived 10 km away from their office,
and Salesman B's customer lived 20 km away. The road to B's
customer went directly past A's customer.

The trip cost £20 in total.

What part of the bill was it fair for each salesman to pay?
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© GreaterLondon
The trip cost £20 in total. @ £130 - £200/day

customer went directly past A's customer.

ir ?
‘What part of the bill was it fair for each salesman to pay? Graduate English Teaching
Assistant - Redbridge
© GreaterLondon
(©) £70- £80/day MPS

Day3 l 3x 3 magic square Graduate Maths Teaching
Assistant - Redbridge

A 3x3 magic square is a square grid containing the © oreaterondon
numbers 1 to 9 in such a way that the sum of each row, @ £70 - £80/day MPS

column, and diagonal has the same "magic total".

RE Teacher - September 2020
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By considering rotations and reflections to be equivalent,
prove that this 3x3 magic square is the only solution.

PRODUCTS

Five reasons you should have Mac in
your school

-~ - i
; n number mn hlg |
suffolkmaths.co.uk/pages/Problem solving/.../mathschallenge 2. starpdf ‘ ‘ I | f '- o

B maths-puzzle-01-1..p.. ~ Showall X

14:24

20/05/2020




